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. Bar AB is pinoed at end B 10 a collar that may slide over the smooth bar CD.
Determine the couple My required for static equilibrium of the system under the 1 kN
loading shown, Alse, determine the corresponding pin reactions at end A. (25%)

[ ]
A vertical 1oad P of magnitude 300 Ib is applied to member AR, Member AB is placed
between two smooth walls and is pin-connected 2t £ to a link CD. Determine all
forces exerted on member AB. (25%)

. Two identical spheres A and 8, each of mass m, are atiached to an inextensible
inelastic cord of length L, and are resting at a distance ¢ from each other on a
frictionless horizontal surface., Sphere B is given a welocity vy in a direction
perpendicular to line AP and moves without friction until it reaches B” when the cord
becomes taut. Determine (s) the magnitude of the welocity of each sphere
immediately after the cord has become taut, (b) the energy lost &3 the cord becomes
taut. (25%)

A uniform slender rod is placed at corner B and is given a slight clockwise metion.
Assuming that the comer is sharp and becomes slightly embedded in the end of the
ted, so that the coefficient of static friction at B is very large, determine (2) the angle
f through which the rod will have rotated when it loses contact with the corner, (b)
the correspanding velocity of end A. {25%)




